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for the questions.

Answer either in English or in Assamese.

BIE T SEEEE T R4

1. Fill in the blanks :
AT B o/ ] ¢
(a) The word ‘Environment’ is derived from —

— word ‘environer’.
‘offgtas’  =[=Co!
W o9 Teife (TR

1x2=2

SigS ‘environer’

(b) Wildlife Protection Act came into force in the

year in India.
Rl A WiEE ORee R =
59|
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2. Answer the following questions :

e frml e Sew i c

(a) What is Red data book
S i a3 {2

(b) What is food web ?
AM TE o2

What is ecological succession ? Mention its types.
4

Ff

R ey & 2 WA e Tme w9

What is the importance of environmental studies ?
)

AR SR owy & 9

Write the full form of any four of the following :
Vax4=2
R R SR o el oy

(&) CBD (b) MAB

(c) WWF (d) TUCN

(e) CNG (f) DDT
12/ SEM AECC 1 ¥)

Ix2=2 .

12ISEM AECC 1 - (3)

Write short notes on any five : 3%5=15
SYGE Bl R oo :
(a) Sustainable development.
JEHN BRI |
(b) Ecological Pyramid.
e et |
(c) Impacts of deforestation.
FETee" e
(d) Sacred groves.
g T |
(e) Kyoto protocol.
o Bl |
(f) Impact of Acid rain.
oH RN SRR
(g) Chipko Movement.
oot SewE |

Answer any three of the following questions :

5x3=15
e foFe ome Sev foals

(a) Define Biodiversity. Write about threats to
biodiversity in Assam. 1+4=5

(T (afbas wgeel Wal| spime (o [Ebaels
oS < oRfE W Rewm
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(b) What do you mean by ecosystem ? Write

about the different components of ecosystem;, ~ Total No. of printed pages = 5
Y : II SEM ECOC 1
sRrer I .35 2 SfRieEs f[fey
Toimi I Rac ferin :
(c) What is natural resources ? Write about 2023
renewable and non-renewable resources of ECONOMICS (Core)
Assam. 1+4=5
AFfeT oM T @I ¢ SPRE A9 Saner AECEG 2l
W RN W RN [Ew B (Introductory Macro Economics)
(d) Write about the different causes and Full Marks—80
consequences of air pollution. 2+3=5 Pass Marks — 32
ﬂj’iﬁ;ﬁ ﬁl‘*ﬂil R i Time — Three hours
. The figures in the margin indicate full marks
(e) Write about the impacts of population growth for the questions.
on environment. 5
TPRYE  J@am ARG 8oFe (ol 1. Answer the following questions as directed :
doR Tz el 1x8=8

(a) What is Proportional tax ?
(f) Explain the issues related to resettlement and

rehabilitation. 5 (b) Give an example of Business Transfer
AT A% i AR TS GRS f Rt
TR RO 4T (c) Find the relation between price level and

money supply.
(d) Define Subsidy.

12IISEMAECC1 - (4) 1000(Y) [Turn over



2

(e) During inflation value of money increases /
decreases /remains constant.

(Choose the correct option)

(f) The Balanced Budget multiplier is always
equal to 0/1/ —I.
(Choose the correct option)

(2) National income is a flow concept/ stock
concept / quasi stock concept.

(Choose the correct option)

(h) What is high powered money ?

2x6=12
(a) Write two harmful effects of disinflation.

Answer the following questions :

(b) Distinguish between devaluation and
depreciation.

(c) Why does the value of MPC lie between zero
and one ?

(d) Write two differences between Balance of
Payments and Balance of Trade.

(¢) Define Non-tax payments. Give one example
of it.

() Give two consequences of deflation.

26/11 SEM ECOC 1 @)

26/1 SEM ECOC 1

Write short notes on any three of the following :
4x3=12

(a) Product method of WNational Income
Accounting

(b) Liquidity trap
(c) Stagflation

(d) Components of BoPs Accounts.

(a) Define Gross National Product (GNP), Net
National Product (NNP), Gross Domestc
Product (GDP), National Income (NI),
Personal Income (PI) and Disposable Personal
Income (DPI) and Personal Saving(PS).
Calculate these from the following national

income accounting data : 6+6=12
Entry Amount (Rs. crores)
Personal taxesy o olull B 550
Personal consumption expenditure ...... 160
RDividendsgeas + Wl o S 80
Contributions to social insurance ...... 300
Govt. purchases of goods and

Services e . ¢ T e 70
Exports of goods and services ...... 100

(3) | [Turn over



Entry Amount (Rs. crores)

(a) Discuss the measures of controlling inflation.

. Corporate profit with inventory _ ‘ 12
valuation and capital consumption ' : ' Or
expenditure’ 0000 L e : 20 _ :
Govt. transfer payments 190 (b) Peﬁnc product market. Derive the IS curve
in a two sector economy. Why does IS curve
Imports of goods and services ...... 100 shift 2 24+8+2=12
Gross private domestic investments ...... 200 _
7. (a) What is Effective demand ? Determine the
iy (Eeipayny 0 level of employment using AD and AS
Interest paid by consumers to curves. 2+10=12
DUSIGESTREIISE Wi B, s 20
- - - Or
Net private domestic investments ...... 50 (b) Examine the tax multiplier in case of
Business transfer payments 40

(i) Lump sum tax

Indirect busi
= (i1) Proportional tax. 12

...... 30
Or

(b) Point out the causes of disequilibrium in
BoPs and explain. What are the ‘Above the
line and Below the line items’ in BoPs
account. 8§+4=12

5. (a) What is demand for money in Keynesian
sense ? Discuss the Liquidity preference
theory of demand for money. 2+10=12

Or
(b) Critically examine the Cash Balance approach
to the Quantity theory of money. 12
26/11 SEM ECOC 1 Q)

100(Y) 26/I1 SEM ECOC 1 (5) | 100(Y)
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II SEM ECOC 2
2023
ECONOMICS (Core)

Paper : ECOC-202
(Mathematical Methods in Economics-II)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. Choose the correct one/Answer the following
questions : 1x8=8

(@) In a Market Model, Qd = a-bp,
Qs =—-c¢ +dp and Qd = Qs, the equilibrium

price (p) is

e iy =, Atd
) P=4534 ) pspe
o= _ C+d e ed
(i)P="p () P=gig
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(b) If A natrix is of dimension mxn and B matrix
is of dimension oxp, then A and B ape
conformable for multiplication in the form
AB if

(i) m=p (i) n = o
(iii) n=p (ivym=o
© @AY =2
i (A (i) A
(iii) A (iv) AT
30 2
(d) Rank of matrix |1 1 0 i
5 ") i3
@ 1 (i) 2
(iii) 3 ' (iv) 4
9 8 7
(¢) In the determinant |© 5 4 the minor of
3.2 1
the element 8 ig
@ o (i) 8
(iii) -3 (iv) -6
27/11 SEM ECOC 2 @)

27/11 SEM ECOC 2 (3)

(f) Which of the following is a skew symmetric
matrix ?

[0 1 Bl
® |4 0 GOFI L

1 4 1 2
(i) [o _ V) |3 4

-

(g) If Q=7L°K™ is a production function, show
that it satisfies Euler’s theorem, where L and
K are labour and capital respectively.

(h) Which of the following expression shows the
expansion path of Cobb —Douglas production
function is linear homogeneous and passes
through the origin ?

K P, L P
B % ot v Lk e
o K S B
(i) T=F P ™ L a 7

2. Answer any four of the following questions :

2x4=8
(a) Define orthogonality of two vectors.

(b) Mention the Hawkins Simon conditions.

(c) State the properties of Homothetic production
function.

[Turn over



(d) Given the production function Q = 212, fip
Value of Marginal Product (VMP) apg
Marginal Revenue Product (MRP) when L =
2 under perfect competition.

(e) Give at least two differences between matriy
and determinant.

Answer any four of the following questions :

4x4=16

(a) What are the general properties of vector
spaces ?

(b)

Solve the following simultaneous equations
by Cramer’s Rule :

X, —2x, F3x =1

3x —x, hdx. =13

2xl+x2—2x3=—1.
(<)

Prove that the elasticity of substitution of
Constant Elasticity of Substitution (C.E.S)

) A 1
production function is equal to 1+4°

(d

_Show that the slope of an indifference curve
is negative and convex to the origin.

(¢) Examine the maximum or minimum value of
the function.

z =3x%+ y? - 3xy.

27/1 SEM ECOC 2 )

4. (a) (i) Solve the differential equation
d
_c%-'- 5y =10, where the initial condition
is y(0) = 6.

(i) Analyse the market model for stability,

Qd =14 - 3p

Qs = -10 + 2p

%Ptl =4 (Qd-Qs). 5+7=12
Or

(b) (i) What is Input-Co-efficient matrix ? Write
limitations of Static Input-Output Model.

2+4=6
(ii) Given the transaction Matrix, find the
sectoral output : 6
Output |Agriculture | Industry ( Final Total
Input Demand | Demand
Agriculture 300 600 100 1000
Industry 400 1200 | 400 | 2000

5. (a) State and prove properties of Cobb-Douglas
production function.

27/11 SEM ECOC 2

&)

12
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Or

(b) Given the demand and supply function,

(a)

(b)

27/M SEM ECOC 2

d
Qd = a—bp+ Sd—‘:_; a,b>0

Qs =— c+dp; ¢, d,>0.

Obtain the time path of price (Pt) assuming
that the rate of change of price over time is
directly proportional to excess demand. 12

Find the effects of change in slope (b) and
intercept (a) on income and consumption of
the following National Income model : 12

Y=c+rL TG
C=a+ by
Where I and G, denote autonomous

investment and government expenditure
respectively. '

Or

Given the utility function of a consumer
U=4xy—-y>. Where x and y are two
commodities consumed by the consumer. The
budget line of the consumer is given by

6 =2x +vy. Find the utility maximizing value
of the two commodities. 12

(6)

7.

(a) A monopolist discriminates prices between

(b)

27/11 SEM ECOC 2

two markets and the price equations are given
by

AR; =80Q,-5Q{. AR, =180Q, —20Q3
and TC =50+ 20Q where TC is total cost,
AR, is Average Revenue of Ist market
and AR, is Average revenue of 2nd market,
Q] + Qz == Q'

Find :

(i) Profit maximising output

(i) Equilibrium prices of two markets
(i11) Maximum Profit

(iv) Elasticity of demand of two markets.
12
Or

A producer desires to minimize the cost of
production C = 2L + 5K, where L and K are
labour and capital respectively subject to the
given production function Q = LK. Find the
least cost combination of labour and capital
when output Q = 40. 12

) 100(Y)
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II SEM ECOG 1(Arts & Sc)

2023
ECONOMICS (GE)
Paper : ECOG-201
(Arts & Sc.)
Introductory Macro Economics

Full Marks—80

Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks

for the questions.

1. Answer the following questions as directed :
1x8=8

o SrmifR weie TR TeR fearal e
(a) The Cambridge equation to the Quantity

theory is based on the store of value function
of money (Write True or False)

wmqw@q@wﬁw:mam
Fhfq erae oo (vw /S@g &)
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(b) What is meant by leakage in Circular floy,
- e oRRe fow = [ e = e

A(c) Define Net Factor Income from abroad

OF QWA Coe SNEE el i

(d) Write the meaning of Cash Reserve Ratj
T TR Seeitey wd &l

(¢) Mention any one fiscal instrument to contro
Inflation.

e frgR Rem o Ry e
HfEEE NN Sm w4t |

(f) Point out one Characteristic of Classica
Economics.

EES SR GOt @R S @

(2) Who restated the Quantity theory of Money'
TER AR oG R I witef 751z

(h) Is Balance of Payments always balanced !
CEHER AR AT S SNy A ?

28/11 SEM ECOG 1(Arts & Sc) (2) .

- 28/I SEM ECOG 1(Arts & Sc) (3)

Answer the following questions : 2x6=12

el 2PUAYZE ©ex fuml 2

(a) Distinguish between GNP, , and GNP,..
P G AR IS TS WF T He
AN feri

(b) What is real GDP ? Is it an indicator of
economic welfare ? Justify.

U4FS I AGH Seome 2 T @B wtAfen
TR PP W ¢ e |

(c) Define money. State whether money supply
is a stock concept or flow concept.
JTi9 Ak | JER @bl 9 Tge g=6ll &
AR Y= B 4|

(d) Define ‘Repo rate’ and ‘Reverse repo rate’.

‘(9 @0 O FEe @9 (@51 e o

(¢) What is LM curve? Why is LM curve
positively sloped ?

LM @ & 2 LM QUoE Q@Eies SEye
&7 2

(f) Distinguish between inflation and deflation.
THFRIS WE SEETiied ANy Bfeq|

[Turn over



3,

28/11 SEM ECOG I(Arts & Sc) (4)

Write short notes on any three :

By ol (R e @

(a) National income and welfare.

4>(3:]:

GIOR S S e |
(b) Money multiplier.
Tul @ |
(c) Relation between Bank rate and inflation.
@ TN WF WIS I |
(d) Stagflation.
TGN YIS

(2) Explain the value added method of National

Income accounting. Also mention ifs
limitations. 10+2=12

QST S NN ET FCRSH AGSTE =0
T4 TR ARwet T

Or/=193t

(b) What is Balance of payments ? Explain the

?/arious methods of correcting disequillibrium
in BOP’s. 2+10=12

T #RCMR S B 2 o sifp
Wﬁﬂ@lmﬁ%ﬂﬂWﬁm' 4

100(Y)

28/l SEM ECOG 1(Arts & Sc) (5)

(a) Discuss the Keynes’ theory of demand for
money. 12

@R uN o4fe pifew ©Gh! b 5 |
Or/=ig

(b) Distinguish between cash transaction and
cash balance approach to the Quantity theory
of money. Also, establish the superiority of
cash balance approach over cash transaction
approach. 8+4=12

W AR TG A9 @ W Te6w AR
AR ANAF TS | B G SoTS
o SR ANt vy aAfSom <

(a) Explain with diagram the demand cum cost

push inflation. How can it be controlled ?

8+4=12

foavz viftwl IREe JRFFITS YRt I | TS
o fFags e =R ¢

Or/=l

(b) Define IS and LM curves. Graphically
explain the simultaneous equillibrium in
product market and money market with these
two curves. 4+8=12

IS il =i LM @R sigeal o | @) 92 (@9
e B9 ISR O YW @ A
SISl Pawz WA T4 |

[Turn ever



7. (a) Discuss the different measures of controlling Total No. of printed pages = 5

inflation. iy 12 LY
s e Rifon G TR Sce= )
Or/=i==t 2023
(b) Examine the social cost of inflation. ENGLISH (Core)
12

Paper : ENGC-201
N it sl (Indian Writing in English)
Full Marks — 80
Pass Marks — 32
Time — Three hours
The figures in the margin indicate full marks
for the questions.

1. Answer the following questions : 1x8=8

(a) What is the name of the young boy driving
a cart who Swami, Rajam and Mani decide
to bully ?

(b) Which story is Swami asked to analyse
during his examination ?

(c) Mention the name of the Urdu Professor
referred to in the novel, In Custody.

28/I1 SEM ECOG 1(Arts & Sc)  (6) 1000Y [Turn over



(d) Which subject is taught by Deven Sharm,
in college ?

(¢) “‘Her hair was black as a raven’s wings,*
who is the ‘Her’ referred to here ?

(f) In the poem, “Night of the Scorpion™ why
was called a sceptic and a rationalist ?

(g) In the backdrop of which historic even
was Rushdie’s “The Free Radio’ set ?

(h) Who is the popular Hollywood war her
whose name finds mention in Mulk Raj
Anand's “The Two Lady Rams” ?

2. Answer any four of the following questions :
6x4=24

(a) Write a concise note on the theme of
oppression in Swami and Friends.

(b) Discuss briefly the gradual change in
Swami’s relationship with his father in the
novel, Swami and Friends.

(c) Write a short note on Anita Desai as @
novelist with a difference.

(d) Attempt a brief note on the female characters
present in Anita Desai’s novel, In Custody.

36/I1 SEM ENGC 1 )

(e)

(D

(2)

(h)

Attempt a brief note on the theme of
misfortune in the poem, “The Orphan Girl”.

Examine the role of memory in “My
Grandmother’s House.”

Prepare a short note on “The Free Radio™
as a critic of Indian Cinema Industry.

Make a brief note on Metaphor of Water in
Rohinton Mistry’s “Swimming Lessons™.

UNIT-1

3. Answer any ore of the following questions :

(a)

(b)

12x1=12

In what ways does the setting of Malgudi
shape the plot and themes of the novel,
Swami and Friends? How does Narayan
use the physical and cultural environments
of the town to explore issues such as
tradition and colonialism ? 6+6=12

Discuss the role of education in Swami and
Friends. How does the novel depict the
Indian education system of the time and
what critique does it offer about the
system ? 4+4+4=12

36/I1 SEM ENGC 1| (3) [Turn over



36/l1 SEM ENGC 1 4)

(c) Attempt a character sketch of Rajam in
Swami and Friends. 12

UNIT -1I

Answer any orne of the following questions :
12x1=12

(a) Discuss critically the issue of language
controversy in the novel, In Custody.

(b) Write an extensive note on the use of
symbols and images in the novel, In Cusrody.

(¢) Critically comment on the character of
Deven Sharma as an unheroic hero.

UNIT -III

Answer any one of the following questions :
12x1=12

(@) Attempt a reading of the poem, “Enterprise”
by Nissim Ezekiel as an allegory of the
journey of human life.

(b) Critically analyse how Kamala Das gives
self-introduction in her poem, ‘““An
Introduction”.

100(Y)

(c) Trace the autobiographical elements in the
poem, “A Poem for Mother” by Robin
Singh Ngangom.

UNIT -1V

Answer any one of the following questions :
12x1=12

(a) Critically analyse Mulk Raj Anand’s “The
Two Lady Rams” as a scathing attack on
both the Empire and the Indian subjects.

(b) Shashi Deshpande’s “The Intrusion™ is a
commentary on the institution of marriage.
Do you agree with this statement ?
Substantiate your answer from the reading
of the story.

(c) Critically comment on the elements of
modernism in Rohinton Mistry’s “The
Swimming Lessons”.

36/11 SEM ENGC 1 (5) 100¢Y)



Total No. of printed pages = 5
II SEM ENGC 2
2023
ENGLISH (Core)
Paper : ENGC-202
(British Poetry and Drama, 14th to 17th Centuries)
Full Marks — 80
Pass Marks — 32
Time — Three hours
The figures in the margin indicate full marks
for the questions.
1. Answer the following questions : 1x8=8

(a) Whom does the wife of Bath refer to as a
“revelour™ ?

(b) Mention the famous “metaphysical conceit™
used by John Donne in his poem, “A
Valediction : Forbidding Mourning™.

(c) What was the name of Faustus’ servant ?

(d) Who is the Lord of Mephostophilis ?
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Answer any four of the following :

(a)

(b)

Complete the quotation: “It is a tale / Ty
by an idiot, o

Give the name of the island where Duncgy
is buried.

What is the subtitle to Shakespeare’s Tiwelfi)
Night ?

Who plans the “sport royal” of fooling

Malvolio with the forged letter in Tiveifih
Night ?

6x4=24

Explain with reference to the context, the
lines quoted below :

“Seeing my hart through-lanced every-

| where
With thousand arrowes, which your eies
have shot :

Yet shoot ye sharpely still, and Spare me not,
But glory thinke to make these cruel stoures.”

Write briefly on the three metaphors used
by John Donne to describe his feelings in
the poem, “Batter My Heart.”

37/11 SEM ENGC 2 )

.'\\I

{c)

(d)

(e)

®

(2)

(h)

Write a note on the character
Mephostophilis.

Write a short note on the terms of the deed
signed by Doctor Faustus.

Attempt a brief character sketch of Banquo.

Write a short note on the role of the
supernatural in Macbeth.

Write briefly on the character of Orsino in
Shakespeare's Twelfth Night.

Write a brief note on the ring episode in
Twelfth Night.

UNIT -1

Answer any one of the following questions :

(a)

(b)

(c)

37/11 SEM ENGC 2 3)

12x1=12

Critically examine the relationship between
Alysoun and her fifth husband in “The
Wife of Bath’s Prologue.”

Compare and contrast Spenser’s ‘““Sonnet
67> and “Sonnet 75 from Amoretti.

Explain how John Donne celebrates the
supreme reality of love in “The Sunne

Rising.”
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UNIT - 11

4, Answer any one of the following questions -

(8) Analyze the importance of the comic sceneg
in Doctor Faustus.

(b) Elaborate on the rise of individualism as
reflected in Doctor Faustus.

(c) Analyze the moral tragedy of Docior
Faustus.

UNIT - III

5. Answer any one of the following questions :
12x1=12

(a) Analyze Macbketh as a tragedy of vaulting
ambition.

(b) Discuss the portrayal of women in
Shakespeare’s Macbeth.

(c) Discuss how the prophecies of the three
witches are fulfilled for the second time in
Macbeth.

37/l SEM ENGC 2 4) 100(Y)

6.

UNIT - IV

Answer any orne of the following questions :

(@)

(b)

(©)

12x1=12

Attempt a critical evaluation of Twelfth
Night as the last of Shakespeare’s “Cross-
dressing comedies.”

Analyze Shakespeare’s dramatization of the
conflict between Puritanism and Profligacy
in Twelfth Night.

Attempt a comparative analysis of Viola
and Olivia as they appear in Shakespeare’s
Twelfth Night.
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Total No. of printed pages = 5
I SEM ENGG 1

2023
ENGLISH (GE)
Paper : ENGG-201
(Media and Communication Skills)
Full Marks — 80
Pass Marks — 32
Time — Three hours
The figures in the margin indicate full marks
for the questions.
1. Answer the following questions : 1x8=8
(a) What was the name of the first Indian film ?

(b) Give the name of the newspaper founded by
Gandhi to express his views when he was
in South Africa.

(¢c) What is the most common mode of
classifying various forms of

Advertisements ?

(d) When did story boards first originate ?

[Turn over



(e)
()
(2)

(h)

(a)
(®)

(©)
(d)

(e)

®

(2)

(h)

What is a more common substitute for th,
term ‘Talent’, as used in the language
Radio and Television ?

What is the full form of TRT ?

What was the name of the first socig
networking site ?

What is the full form of ARPANET ?

Answer any jour of the following questions :

6x4=24
Write a brief note on the impact of
Globalisation in the Cultural aspect.

Write briefly on the advantages of Radio as
a form of media.

Write a short note on Classified Advertising.

Make a short note on the history of Story-
boards.

Write a brief note on the different ways of

organising a newscast.

Give brief explanations of the terms

“remote”, “reporter package” and “ROSR”.
2+2+2=6

Write a short note on the concept of Cyber

Crime.

Prepare a brief note on the concept of Social
Bookmarking.

38/11 SEM ENGG 1 )

UNIT -1

3. Answer any one of the following questions :
12x1=12

(@) Write a note on the advantages and

disadvantages of television as a form of
mass media.

(b) Analyze the impact of globalisation and its
effect on society.

(c) Discuss the various forms of mass
communication in the present world.

UNIT - I

4. Answer any orne of the following questions :
12x1=12

(a) How did Advertisement originate ? Discuss
Institutional Advertising, Classified
Advertising and Political Advertising.

2+10=12

(b) What do you mean by ethics in advertising ?
How should advertisers take responsibility
of Self-regulating their advertisements ?

4+8=12

(¢c) Define Storyboard. Discuss in detail the
different types of Storyboards. 2+10=12

38/11 SEM ENGG 1 3) [Turn over
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UNIT — III

Answer any one of the following questions :
12x1=]2

(a) Writeadetailed note on the ‘do’s and ‘don’ts’
of Radio and Television announcements.

(b) Write an extensive note on book review
writing.

(c) Read the following ‘source copy’ and use it
to prepare a television news script :

FIRE IN JORHAT

JORHAT, 17 Feb- At least 300 shops were gutted
in a massive fire that engulfed the Chowk Bazaar
area in Jorhat district of Assam on Thursday ni ght.
However no casualties were reported, said Jorhat
Deputy Commissioner Pulak Jyoti Mahanta.

The fire, which broke out late at night in the main
commercial hub of the town, was largely brought
under control, officials said.

Prima facie it appears that an electrical short
circuit triggered the fire. Over 25 fire tenders
were rushed to the spot to contro] the blaze.
Additional fire tenders were brought in to fight
the flames from nearby towns of Titabor,
Mariani, and Golaghat district,

100(Y)

There were no reports of casualties as all shops

were closed after the owners and staff had left for
their homes.

Minister for Revenue and Disaster Management,
Jogen Mohan, was at the spot. Police said most
gutted in the fire were the clothes and grocery
stores and the losses, which are expected to run
into crores, are yet to be ascertained.

This is the second such incident in the district in
a matter of two months. In December, a massive
fire gutted several shops in the Marwari Patty
area, which houses several business enterprises.

UNIT - 1V

Answer any one of the following questions :
12x1=12

(a) Define Social Media ? What are the different
types of Social Media ? Discuss in detail.

2+10=12
(b) What is Cyber Media ? Analyze its
characteristics in detail. 2+10=12

(c) Discuss the pros and cons of Social Media
Networking. 12
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l'otal No. of printed pages 4
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2023

FILM STUDIES (GE)
FSTG 201
HISTORY OF NON WESTERN CINEMA
Full Marks - 80
Pass Marks - 32
Time - Three hours

The figures in the margin indicate [ull marks for the questions.

I. Give short answer of the following: 1#8=8
53] Tad fige 5
(a) Who was the director of film “The Life of Oharu™”?
The Life of Oharu’ b#ifosa4e i wifasrem wfafes ¢
(b) For which film of Akira Kurosawa got the award Golden
L.ion at Venice film festival?
i< FEAMBIAIE (1< betfobg 4lca Cefils baltbd = Gl
Piez 24514 si1e Sfafeer
(¢) What 1s tatami shot?
BIGIfI &6 e e e
(d) From Which region did Third cinema originate from?
(le] SjesErd 241 GO beifohas Tea (2 ?
(¢) What is the name of the film studio established byHimanshu
Rai in Mumbai?
fesiten i iz dfevia §iue '®E an foe
() What is the name of the film created the *Angry Young Man’
images for Amitabh Bacchan?
wilSiole quasd 2104 el Yaws wiw) i i e veilogs o v

(Fif=tf¥e)




(g) For which film Dr. Bhupen Hazarka recieved the best national m

Gtudio era of Indian Cinema,
director award?

2 fsia (i Bhd s 410 curdy FReTT #IfRBIFEE A o SIS beifiba Fiusl’ w1
G Tl 2R ¢ e

Contribution of Jahnu Baruah to Assamese Cincma.
Sfafzer? i , e oot :
(h) What is the name of first Assamese film directed by Dr. Bhabendryspifizi b=1io6ats i aara Savle |
‘Saikia? S peoead Al i< ¢ mnswer any four from the following questions : 12%4=48
= ' qﬁmmmﬁmamwmﬁ RIE RS stions : 2
¥ STl $EF AR

Naacl 5IfEGH 2 T a2

7 Give answer of the following: "ﬂmalyzc with example, how did Epic theatre and Marxist aesthetics rellect

Tea fau ¢ ' it n Third cinema?
(a) Write the name of two films directed by Mazi : &l 5AMBES (S Gibie fATabE S Aig sweaes AfoEre (o Sarsas HewE
o T SR 91 e e 7T o ¢ s 4 |

(b) Who is the director of the film ‘Memories of Underdevelopmentay oo ihe different phases of Third Cinema and the political background

which country did it originate? - Of Latin America?
‘Memories of Underdevelopment peffoeEd ARBIETE (P S (T Vg wefosae fafen warai wicsioan @i (b sipafasis aetfes @PFob [@pE S|
iRl e 2 e

. Tow does child physiology reflect in New Iranian cinema? Discuss with
(¢) Which two Raj Kapoor’s films were get emmance popularatyin M:xamplc of any two films of your choice.
Union? ATV 55IAS (TS Pl SR eifowee qitrg 1CSE oiwwa AT 14 bahas
(oo ABATe TP Gl TS S e watfvsd F4 5 2 eael I (G e |

P : : ¢ al® award win 5 ey ; e I -
(d) Write the name of two national best film Swarnakam Tow did Iranian filmmakers address socio-political themes in their films,
films from Assam.

oy nd what are the critical analyses of their approaches?
ety B DA e AR AT ISP D T e oo codimen vefiore s sferretsfow frmres

3. Write shortnote (any four) : ST F51a A0S Sl (OETFF YEeLeTa TN RO (e ?

eyl fordt (Rl BIfH) 2 liscuss about the Narrative structure of Mizoguchi’s film, with the example
() Filmmaking style ofYasujirdOzu. {any (ilm of your choice.
e’ o bafoad el T4 5114 #f7 RII| SaTfobad siaare g afed vaftes aefaitrtia e st w4 |
(b) Cinema Novo. 7 Kurosawa s hands, cinema become a powerful mediun to explore humanity,
foreTatl | orality, and the human condition.” Discuss with the appropriate example
(c) Ka}f_"ki Theatre f Kurosawa’s film.
e fEmEmE !, Tefost sl AT S QR ST Al STt 2o b 9@l
(d) f')f’fSi“‘le (2006) TamlieTt stieparnce] #/faelfe tare " —Faitsiaie beilbagd siql Solye Ghlzacd 3Eitd
PERIEE . S, lelAl |
(¢) Contribution of Dadasaheb Phalke in Indian Cinema.

1S bR HMibTeea ZRITEE Sl |




(g) Discuss the role of Dadasaheb Phalke and [limanshu Ray in

the establishment of unique identity
period. . .
e ol IO beifoeas FE R cafeiEs erft%sm RS WMIBICA Fit
i Tties e S R e <l

of Indian cinema in silent

(h) Discuss the cinema of Raj Kapoor as the ducumcmutiur_x of
changing social and cultual mindset of independent India.
AT e RS A Wi AT AP S S0
e DT S 1

Total No. of printed pages = 4
IT SEM GGRC 1

2023
GEOGRAPHY (Core)
Paper : GGRC-201
(Human Geography)
Full Marks—- 80
Pass Marks — 32
Time — Three hours
The figures in the margin indicate full marks

for the questions.

1. Answer the following questions as directed :
1x8=8

(a) Who wrote the book ““ Anthropogeographie™ ?

(b) Name one country having negative growth of
population.

(c) Who advocated the concept of “Geography as
Human ecology™ ?

(d) Who stated that “Man is a product of the
Earth’s surface.” ?

[Turn over




(e) The biggest city in China in terms qf
population is (Beijing / Canton / Shanghaj)
(Choose the correct answer).

(f) Indian cities are categorised on the basis of
population size. (Write True or False).

(g) The number of Class-I cities in India is
increasing with time. (Write True or False)

(h) Who coined the term ‘Megalopolis’ ?

Answer the following questions as directed (any
four) : 4x4=16

(a) Describe briefly the nature of human
geography.

(b) Write briefly about the concept of welfare
approach.

(c) Describe briefly the determinants of population
growth.

(d) Write a note on origin of Nucleated settlement.

(e) Write briefly about the problems of
urbanization in India.

1/11 SEM GGRC 1 @)

UNIT -1

(@) Define human geography. Describe its various
branches. 4+8=12

Or

(b) Describe the contribution of French school in
the development of human geography. 12

UNIT - 11
Explain the contribution of French scholars to the
development of possibilism. 12
UNIT - 111
(a) Discuss the factors affecting population
distribution in the world. 12
Or

(b) Explain the stages of demographic transition

model and its significance. 8+4=12
UNIT - IV
(a) Present the spatial patterns of urbanization in
the World. 12
Or

(b) Describe the types of rural settlements with
suitable examples. 12

1/l SEM GGRC 1 (3) [Turn over



UNIT -V

Total No. of printed pages = 5

7. (a) Show the relationship between the man-la,

ratio and the resource base of an area. |

II SEM GGRG 1

Or
2023
i ibe the im
(b) Define over population. Describe pa
of over population on economic growth, GEOGRAPHY (GE)
Ty Paper : GGRG-201

1/11 SEM GGRC 1

(Regional Development)
Full Marks—50
Pass Marks — 20
Time — Two hours
The figures in the margin indicate full marks

for the questions.

1. Answer the following questions as directed :
1x5=5
ot SR ARkiRe e Ty w4 ¢

(a) Regions delineated on the basis of relationship
are called ————— regions. (Fill in the gap)

o ogRe Biee T wwEEEs ——
e I @RI W (A IR o@e 30

(4) 100(Y: | . [Turn over



(b) The Damodar river is known as *“——
West Bengal. (Fill in the gap)
AR SRS Afe ol
@Rl (A 3 o w4

(c) During which Plan period Hill Ay
Development programme was initiated ?

R GEE SFE DI WmS @
e ¢

(d) Who propounded the concept of Growt
Pole ?

o R 4RAGT @I S9RuIRE |

(e) Write a problem of hill dwellers in India.

SReIHE AT GTE I w9 AW
TYIN @7 TEu G BRI R

Write in brief on any three : 5%3=]

FefFRemm edme oy Grt far (Rl
oo ¢ -

(a) Indicators of Regional imbalances in Indi¢

SRES  WWER  SRRAOR sz

2/11 SEM GGRG 1 @)

(b) Characteristics of an ideal planning region.

<Ot S SAREE e R |

(c) Role of NEC in the economic development
of North-East India.

TeY 9 ©OReT udEfes Fome NEC-3
g el |

(d) Special Area Development Plans in India.
TiRed Red v Cmm  ARSwATER|

(e) Need of Regional Planning
wixflr CRTEEE SPuEe |

UNIT - I
(Concept of Region)
Marks — 10

3. (a) Define region. Differentiate between formal
and functional regions. Discuss the problems
of functional region. 2+4+4=10
S W & 39 2 SRR Wi SriiS)
S oo Ay e
PR SwEd TEUIERRY RISl
391
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Or/=1=l

(b) What do you mean by regional disparitje, Or/ae

Discuss briefly the causes of widespr, (b) What is problem region ? Write down the

regional disparities in India. 4+6~ basic characteristics for i
oefET @FHNE W e Jerl 2 CIRE] g regions. Suggest some sif:;?l:cﬁu}s:;?slcg
el (30T FROEN I T | solve the problems of those regions.
2+6+2=10
UNIT - 11 T R S Wi S o T ok S
(Prerequistes for Planning and Development, @l Bare Rt qerm T dife
Marks — 10 SRGTE e

Gl WA TOPIEEE ANeR A
g Coe  oRe  wisEER

4. Discuss the characteristics of an ideal planm
region. Write with examples.
ar wief ARTEE wwEs @FEEETER ST
=1 Swmer ferat

UNIT - 111
(Regional Planning and Development)
Marks - 10

5. (a) Give anaccount of Damodar Valley Corporat
(DVC), a special plan taken for the developm
of India. What are its achievements ?

7437
CRS CRIE AR MM o) el

W T Rew AR Raw frar) i
TFACIEARE T &y

2/11 SEM GGRG 1 4) n
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Total No. of printed pages = §
II SEM HINC 1
2023
HINDI (Core)
Paper : HINC-201
erfEreiT i wemmeiy &= =faan)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

. Fr=fafea awl & sw Afsm. 1x8=8
() &<t wifeca § faenafy =1 St swify figsh
g2

(@) faemfo-vgeet & g @ # yuFar € 2
(1) ‘wifta e’ & wfa FE T 2
(9) <ies waler % otwfow ofa = 9m w1 £ 2

(®) ‘mifs =1 wafy, & Fe®’ Sfm e wfa &
Hedf I wEr S ® 2
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Z

3

(3) FERe™ # T Hel ge ot ?

(®) Aferei Weot HEAUR & Tfafra i g
g2

(=) dfafos woaum & I8 &9 HE € ?

Fr=fafgs gt & s SIS 2x4=3

(=) Toemafa =t sasg W § WA <1 sl §
Tm fafeal

(T) 9CM & Hreaa foRmad fafey )
(3T) FHEAR T AWEA H OFA Hr w0 R R 2
(o) foerd =t = ‘wawE’ # fean R dwfon
2 R T fH9 W w1 wEE gem ¥ 7
Frefated 99 ¥ IR A ; 4x4=16
() fommafa =t wfem-wemr w wFw efew)

(@) "I St T F S v 91 3@ W
= wfaafea =it

Gn) ‘Wwﬁﬁﬂ—ﬂﬂhﬂfﬁsﬂﬁﬁaﬁwﬁﬁl
%I’Wﬁ%mmmqﬁﬁq,

(&) TFAFG w et W iy
1 ottt

19/ I SEM HINC 1 2)

() (i) T=F <A, Fgrrs, T8 @ Hfin et

. ESIE
I qhd-Trha e, AR aif
T3 |
"R, AR enfh, sgEn fawe goi
ST F R 39 SearTe, - aafs
eIt
TR ==Y, 37aI3d Siigd, Sif ST g I
die wfeHH, gAfa TYgeT s g1 fhg

R |
wTe faumfa §79 =) Siefd 9= T=-
[Egsirll
3TerET
(i) @& fodt TER TTEiR |

R ow faE wWE ' S SSaE |
=@l 9 gufa, gafa, d@ufa, wg ity fafy,
faga =R ||

YqAfen ST AR et S e ||
Ffew @ & I Aife S W AT
i@ |

q¢ o Tty for oiv oifst F9e-38 &t

TR

19/ 11 SEM HINC 1 (3) [Turn over
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Afe s § € A W g W OW wein

|
g9 gatasE 9y & 9w fafie o
sfen

(@) (i) <7 wa S == W I TuR s,
Uo foE 99 W ER 1 T 98 T 99 5
e 33 9 Ifer 9 Hifs =site, 3 o

=l
SR A T 3T TR | IEE IS W Fe
YT ||
Hed WA Feil SEad! | Ty gats wah
et ||
e $e1 WU e SHie | o) wa 5wk
e
B e T A T gen fae ot o
T @
ot i € fas) A= I 9w oy
?MiTHHEBWI%;ﬁﬁ%fﬁﬂ1ﬂﬁiigyé||
3o
(i) Fife 5= s #3, R’ T wpffe g
T A TG I T, A Y g
Fq B Ty &, T AT %
R I Sy, 3 <R % )

100(Y)

5. ﬁﬂfﬂ@ﬁﬁﬁﬁﬁrﬁ;ﬁqm%ﬁ?m:

10x3=30

() TEremfas e arvi 3 srafers i # forg o

()67 ol 3 el o ¥ = qrave i

?Wwwm%aﬁﬁmgw%

e = At st ot whrre fm 27
TE HifSw |

() S e % Ters 1w frefia w1

ﬁ?@nﬁw,%gwﬁmwma
TR " #1156 wew ) gfy i

1 fe= o5 w0 & 2 aoiy wifm

19/ 11 SEM HINC 1 (&) 100(Y)



TOtal No. of printed pages = 4
IT SEM HINC 2

2023
HINDI (Core)
Paper : HINC-202

s = whr (orree ws)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. fFrefafen st & s® ol 9 9 A
1x8=8

(F) 9Reg eRya= &I URRYS T fFg o
Y oot ® 2

(|) ‘fra v’ TvsHA A1 e 2

(31) ‘St Irgare’ wiaa AfeRe T & e
HerwTsn § foaen T % ?

(&) ‘oit foch =t si@l A’ Ham & HE wE
% 7
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(T) Nt TEE fRe w@ % THE ¥ 02 (m) ‘FIEF HETF e o ey =i

|;'i7'lﬁ§QI
(a)mﬁ'ﬁuﬁl'm@ﬂmw%? |
(3)‘3@@#‘1‘3&@%&?1%? (q)mmm#ﬁwﬁwaﬁﬁ?m

;. HIOM & AR W fofey |
(1) weRd 9Et A W AU i RN w9 H faf

e ® 2 4, Frafafea sl § § f o st o afefas
. it <o - 6x2=12
. Prefafes vl & SW L 2x4=8
E (%) weREl awi

(=) fe=< afecy % sfoem § SMyfT T 1 S

Frd el ST € TH T U e T - s ‘ ’

@ %2 (M) = FE I CFEE
(m fed wfea & "G W' F AW BE A 5 gymin =ren A 8x2=16
? =i ?
T ? 9% W S% o o 2 | (?)(i)“m —qﬁfﬁﬁﬂﬁﬂﬁ'ﬂ?@ﬂmf
(M) 'T-FT W T U R . ¥ o 9w 9@ fom w@ R F A
qavﬁaﬂ—agﬂmﬁﬁl'—agmﬁm a1 fag-fasar Ag-s9 St R e =m)
wfam | fo=n ™ ® @ W wfaa ¥ =i WA @eF 999 wea foem feErn”
wH & ? '
rerE
3. Frafafen vwl & s <. 4x4=16 (i) afE, & e e W,
(%) ‘3 o’ o fom-o=1 {1 —vfeq s 5 e, T gE 3 ST 9Y-EE g 2
HTYR 9 T8 wHifeId | wa@a'-'@ﬁm»
(@) “fE #t Fu-faera N Rl wE grerch fipr st | @ EEE
SIS Lo GRS | &y e 3@ A I A I W HF T
— SR e Hif | afg § e FER TN
20/11 SEM HINC 2 (2) 3) [Turn over
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(@) (i) ‘y@ & gE-3Ae 9 W
TA-NFA fauer ¥ T 9w ?
¥ Irgell ¥ e ® |

YA
(i) “foeg@ ™ B FE Fen
i T = e e

9it=g s sfosr aE
m@mﬁ—ﬁgmﬁlﬂ

6. Frafaras % ¥ el & et ¥ femgds =
i 10x2=20

(%) o vaw (wg @) Wi w1 ke =y
=hifer |

(=) =1 Fon et T’ W i R @
T‘Rmml

(%) =@ =wi %t e F s F
Trefra =ifs T I

20/11 SEM HINC 2 o y
0(

Total No. of printed pages = 4
IT SEM HING 1

2023
HINDI (GE)

Paper : HING-201

(TEr wiEe)
Full Marks — 80
Pass Marks — 32

Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. frefafaa wwit & SW AT [x8=8

(%) ‘egslt =t A’ Fert § S F o
A N 91 7

(@)Wﬁmmww%?

(1) “eprelt sifet’ SO W SR fRe S A
¥ 8?7

(=) Frerdt o WER @ AR ® 2

(=) spiafe -9 W = F H6 [ w5
e <o € 7
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(=) ‘gﬂﬁﬁ'?ﬁﬁﬁi‘@ﬁﬁ/ﬁﬁﬁﬁﬁ?ﬁma
&A™ or ?

(D) ‘yairl’ F WASR BE T 2
(S7) e 1 o = R ?

. Tt aei % SW AN 2x4=y

(%) for 9 wrel 9 Aol Jwel S i
=edl TR ?

(@) ‘Haret’ HeFl 3 FUHR A hE T 6 T
s © 2

(7)) ‘HUEER w1 e ¥ 9@ 3 = 9oy fom
T?

(a) ‘STEr s e’ T R S o faen ©
TUF AES @ A fofan)

. ¥ T % SW SN 4x4=16

%) ‘@%eM W aehd 9ed A8 S
o8 2t @ 3 o 9 9 aeem—
T T AW I R SR e

(@) "' age, oA W -,
SU-SfRgq 99 AR 1" — e ferfi |

(M) " g = T B AR i e e
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Total No. of pl'inted pages = 4

I SEM HISC 2

2023
HISTORY (Core)
Paper : HISC-202

(Social Formations And Cultural Patterns

of The Medieval World)
Full Marks— 80
Pass Marks —32
Time — Three hours

The figures in the margin indicate full marks

for the questions.
Answer the following questions : 1x8=8

(a) Who were the Sabellians 7

(b) Who was the last Etruscan ruler of Rome ?
(c) What is Laticlavia ?
(d) Who was 4pis?

[Turn over



(¢) The Greek God Zesus can be identified Wity
which Roman God ?

(f) What is Patrocinium ?
(g) Who were the Sarakenoi ?

(h) Who authored the book Medieval Technology
and Social Change ?

2. Write short notes on any tAree of the following:
4x3=1)
(a) Curia

(b) Cybele cult
(c¢) Coloni
(d) Mark Bloch
(e) Sufism.

3. (a) Discuss the importance of the Punic Wars i

establishing Roman hegemony over the
Mediterranean region. 12

Or

(b) Critically examine the development .

centers and trade in ancient Rome, 12!

4/11 SEM HISC 2 @&y

4. (a)
(b)
5. (@
(b)
6. (a)
(b)

4/11 SEM HISC 2

Do you believe that Roman religion was

polytheistic in nature ? Discuss the chief
features -of Roman religion. 2+10=12

Or

Discuss how religious movements of Asia
affected the fabric of Roman religion. 12

Discuss the external cause for the decline of
the Roman Empire. 12

Or

*““A general crisis of the Roman economy was
more responsible than the crisis in the slave
mode of production for the decline of the
Roman Empire”. Discuss. 12

Discuss the salient features of the
technological innovations that occurred in

medieval Europe. 12
Or

“The exploitation of the serfs by the lord was
the dominant surplus extraction relationship
of the feudal social formation.” Discuss the
in the context of medieval Europe.

t
statemen 12

3) [Turn over



7. (a) Write note on the development and spreaq . . of printed pages = 5

Christianity in medieval Europe. N

Or

Total NO
IT SEM HISG 1

(b) Discuss the rise and decline of the Um a)’yad? 2023
dynasty of Syria. I HISTORY (GE)

Paper : HISG-201
(Women in Indian History)
Full Marks - 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

| 1. Write short answers to the following questions :
| 1x8=8

woR R by Ted ferde
(a) Who wrote «Humayun nama’?

i w1 G R ¢

(b) Who was the first woman graduate of India ?

S g W WP @

(c) In which year Franchise Right was extended
to the women of Madras province ?

| o bre A AT Blca s s AR QIESIE

opie 1 & P

4/11 SEM HISC 2 (4) ‘
100(Y). [Turn over



d) Name the first women journal of A 1o ol
) . SSam, (d) Role of missionaries in the development of

SN W AR AR AN F o women education.
(e) Who wrote Sultana’s Dream ? | 9 PR Rorrs feid) sieea il |
RIS AN (e iR 2 (¢) Role of women in Quit India Movement.
(f) Who was the first Woman President of Indiap OR® Ol SRS T B

National Congress ? 3. (@ What do you understand by the term

SROR TR TN AT B oS G patriarchy ? What are the various theories of
wifeeT 2 the origin of patriarchy ? 12
(&) Who led the foundation of ‘Arya Mahila T I B o ¢ FEeE Feoifew
Samaj’? Rfen weTR w=FR B
G R TS i A R Or /==
u : -
(h) When was the Hindu Widows’ Rem arriage Act (b) What are the important pnf1c1ples of or'al
passed ? histories ? Why are oral history and life
history methods useful in feminist historiog-
Rl R =iz @fm o
% ? S g raphy ? 12
. a%geldf FifemR Tz fori |
2. Write short notes on any three : 4x3=12 Ghfere YoRPH IFY

me@mﬁ%wﬁlﬁw

R ofGE 57 Gre B e Bfap @ < SR 2

(@) Gender (fzi2st) Discuss the status of women in Buddhism.

(b) Sultana Razia (peTei! @) : @ 12
(c) Sarda Act, 1929 (SiRW! =ifzs, S33y) | e e S IS T SCEDS R &t
| 2
5/11 SEM HISG 1 2) ) it oves

5/ SEM HISG 1



Or/=19q1

Or / 5199l

. s . i the role of National Council of

D the position of women in M (b) Discuss .
B Dnets: . ughal Women in the development of the status of

B 12 , women in India. 12
G Fore AN STRITH SUCETID

E i g SRS IR TR AGR e S

5. (2) Explain the role of social reformers ang PR R S 4|

missionaries in eradicating social evils 7. (a) Discuss the role of women of North-East
against women in the 19th-20th century India in Indian Freedom Struggle. 12
L 12 SRET TS TS TGI-o[ TS el
TR o Rl =fSaie Siawe SRam R e S REE Sl 4 |

2! AES PFFTIR Ffere e e o

Or/=12<1
=9l s S it <

(b) Discuss the status of women in Medieval

Or/==At ] Assam. 2
(b) Describe briefly the development of women | TSR SIS AR FH FTHAE Sl 4
education in India during 19th apg 20th
centuries. 12
TR % Rl AR Sivww 19 frme
MR =it ot TGS gy ‘
6. (a) Explain the development of Women’s |
Organisation in India. 12 ‘
SRS AT AT RN Ry iy |
SCAD wife =)
100(Y)
5/11 SEM HISG 1 4) ‘ )

100(\{) ' 5/M SEM HISG |



Total No. of printed pages = 3
IT SEM PHLC i

2023
PHILOSOPHY (Core)
Paper : PHLC-201
(Greek Philosophy)

Full Marks— 80
Pass Marks — 32

Time — Three hours

The figures in the margin indicate full marks

for the questions.

1. Choose the correct answers : 1x8=8

(@) The concept of ‘Nous’ is found in the
philosophy of Empedocles/Anaxagoras.

(b) According to Anaximinder, water / aperion is
the essence of all things.

(c) According to Socrates, man does wrong
knowingly / unknowingly.

(d) ‘Particulars exist in space and time, but
universal are neither in space nor in time’ is

said by Plato / Aristotle.

[Turn over



(¢) Carpenter is a material / efficient cauge |
wooden chair, according to Aristotle.

(f) Sun is new everyday is said by Heraclityg/
' Thales. )

(g) Sensible World, for Plato, is a real / copy of
real World.

(h) For Protagorus / Parmenides, being is eternal.

2. Write short notes on any four of the following :
6x4=24
(a) ‘Greek Atomism (Democritus)
(b) Characteristics of Ideas (Plato)
(c) Knowledge is perception (Sophist)
(d) Thales’ contribution to philosophy ‘

(e) Condensation and Rarefaction,

3. (a) The fundamental realily is not one but four
5 Na.me pre-Socratic philosopher who hold
th}s view. Explain his cosmological concept
with reference to it. 1+11=1p2

Or
(b)

“You can’t step twice into th

“’h e . €5 1 L]
y did Heraclitus make thig :t‘:;nl;lver

— Explain it from his Perspective cmli; 1

6/11 SEM PHLC 1 (2)

6/11 SEM PHLC 1|

£ 14

5.

0 What do you understand by Sophist ? Mention
some of the central philosophical issues
raised by the Sophist ? 34+9=12

Or

(b) How does Socrates emphasise knowledge as
a necessary and sufficient condition of virtue ?
Discuss. 12

(a) How did Plato want to achieve justice both at
indiidual level and social and state level ?
What are the drawbacks of his theory of
justice ? Discuss. 8+4=12

Or
(b) Explain the Platonic account of the relation

between the world of Ideas and the sensible
world. 12

(a) What are the four causes of Aristotle ? Is his

theory of Causation satisfactory ? Examine
critically. 8+4=12
Or

the potentiality which can be
into chaif, table, bed, door ete.
istotle’s perspective. 12

(b) Wood has
actualized
__ Explain from A

» 100V



Total NO- of printed pages = 4
II SEM PHLC 2

2023
PHILOSOPHY (Core)
Paper : PHLC-202

(Ethics)
Full Marks-80
Pass Marks — 32

Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. Choose the correct answers : 1x8=8
(a) Virtue ethics is 2 normative ethical theory/
meta ethical theory.

(b) Universalism believes/does not believe in an

absolute moral order.

(¢) Error/vice is " intellectual blunder which
lies in deliberation Of choice.

o cognitivism moral judgements
Xpress propositions.
[Turn over

(d) According
express/do ot €



(¢) Murder, theft are the examples of Phys;
|

evil/moral evil. G

(f) Ethics is concerned with individua]
cosmic good.

(g) All actions/only attached actions are
cause of bondage. e

(h) According to Gandhi, the means to attai)
truth is God/non-violence.

Write short notes on any four of the following
6x4=)

(a) Deontological ethics and teleological ethics
(b) Moksa as a purusartha.
(¢) Kant’s categorical imperative

(d) Relativism

(e) Gandhi’s conception of Non-violence.

(a) Is Universalism conduciye

: - to iety !
Discuss critically. R Y

1+11=1]
Or

(b) Explain the nature and SCo

How it differs from N"Tglzt?\feMiﬁ-eth;CS?
€thics 7

8+4=1

7/11 SEM PHLC 2 )

£0gg,

(a)

(b)

(@

(b)

(a)

7/ SEM PHLC 2

What does Aristotle mean by Eudaemonia ?
How can it be attained ? Discuss how
Fudaemonia is distinct from hedonistic
pleasure 7 2+8+2=12

Or

‘It is better to be a human being dissatisfied
than a pig satisfied’.

What does Mill mean by this statement ?
Why his theory is called Qualitative
hedonism ? 6+6=12

Distinguish between Natural Evil and Moral
Evil and between Moral evil and Error,
giving example of each. Can a person be

morally responsible for his errors ? Give your

view. 4+4+4=12

Or

«An Eye for an Eye”

Do you believe in the above principle that
punishment must be exactly equal to the

crime ? Give justification of why and why
12

not ?
What does Niskama mean ? What are the
distinctions between Niskima Karma and

gakama Karma 9 Why is Gita recomending

Niskama Karma 2 2+4+6=12

(3) [Twmn over



Or
Total No. of printed pages = 7

(b) For Gandhi ; nothing exist in reality p
Y buy, I SEM PHLG 1

Truth. Truth is the end — Discuss the roj

importance of truth in Gandhi’s philoseac

which permeates his thoughis, wor .

deeds, 5 <

14
.

PHILOSOPHY (GE)
Paper : PHLG-201
(Formal Logic)
Full Marks—80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. Choose the correct answers : 1x8=8

g Tad Ao Bl 8

(a) Propositions consist of two/three parts.
e Bl feRE SR AP

(b) Semences/pmpﬂsmms are expressed only in

the present tense.

7/11 SEM PHLC 2 (4)
2 [Turn over
100(Y)



r’

(c) Journalists use directive language / im“cmnati\rt
language.
el e FOrITE SR/
IS E | |

(d) In Immediate Inference there are two/thy,
propositions.

S SEEie o1/fWE I/ A |

(e) Universal/particular
existential import.

S/ Rem e wideyee s 2|

(f) The value of variables changes/does no
change in different contexts.

propositions have

o7 emicors ARIEPRRT TH wifiwé za/azn |

(8) An equivalent function is false when both the
statements have equal/different truth values.

aﬁwﬁwwwmﬁmm@@;@g
TORED G/ (@0 =R | |

(h) The boy is either intelligent or hardworking
— the symbolic form of the Statement is — |
P=9/p Vg |

AT Tl TI poglpVg,

<& BfeoH |

8/I1 SEM PHLG 1 [0))

8/[1 SEM PHLG 1

Write short notes on any four of the following :
6x4=24

wrd Rt 56N a5 Gt o

(a) Distribution of terms in universal proposition
ARE TS A7 et

(b) Definition of conversion with its rules
REPhEE It TRea 7E!

(c) Categorical syllogism with example
SuizaR S FRUorE U

(d) Truth table method with illustration
SarEepiz Aoyl IR afe

(e) Contrary and Contradictory opposition.

ReiTie o Rea R

ne a proposition. Distinguish between

) Del sition. 2+6=8

sentence and propo

oo vk | -

W'l

3) Turn over



Or / <1 (ii) Most students are not hardworking.

(b) An?lj.fse the relationship between truth ang @Ren w9 sifEe 53]
validity related to an argument.

| TR :
?;[PG R CFTS TS ST KD ol (iii) Few men are not selfish

TR R 1| N WE LR T2 |
4. (a) What are the basic functions of language 9 (iv) Only intelligent students can pass the
Explain the directive function of language, examination.
3+7=10 @A N @R NS T 29
SRR G PR R R o Roigs A |
FRY I 4 |

(v) Any student can do this.

by S 2ER 3 SRR AR

(b) Discuss about agreement and disagreement in

belief and attitude. 10 | Or/ Si2&l
R S WoTerm s RS s TSI (b) Test the validity of the following using Venn
ACSCTp il Diagram : 2V3x4=10

(o fo T9ER IR WS AT A ¢

5. (a) Transform the following sentences

into
tan 1 .
standard logical form - 2%x5=10 (i) AAA in lst figure
OeTd IRFCFEG! T iz _ ‘
RALLA s P — i AT AAA

(@ All that glitters is not yoiq

(i) AO00 in 2nd figure
forferet <@ @2 G gy, |

fw egme A00

8/ SEM PHLG 1 @) ) Turn over

8/11 SEM PHLG 1



(iii) EAE in 3rd figure (iv) Peacocks are beautiful.
TOI WIN© EAE WA6RR G |
|
(iv) IAI in 4th figure ‘ (v) The meeting will be held if and only
Eqﬁqf Ao 1AL , if all the members are present.
5 ' |
6. (a) Explain the basic truth functions with TSI+ Eﬂ%@ 79 I 9% @ IR
examples. 10 SRRCEN T SRS AT |

TRIEIIR (TS GITeTe oyl T BT w4l | 7. (a) What is the fallacy of non-observation ?

Discuss its different kinds. 2+8=10
Or/=i2™t e

(b) Symbolize the following statements: ST (I {6 BAR 2 (RO Sl
2x5=10 | Sl
R SRR ST SRS ok 1 2 |

r (b) Explain Argumentum ad ignorantiam and
Argumentum ad veracundiam. 5+5=10

Or /921

(i) It is raining but the game will continue.

I T SR T A v s |

(il) Either Rabindranath is a poet or a
novelist.

Wﬁmaﬁ%@wl

(iii)) If it rains heavily, thep there will be
flood.

wreEe! Al IE ST SIS SHmT TR 4|

I wfgs g9 =3, (T A 7,

8/1 SEM PHLG 1 (6) %) 100(Y)

8/I1 SEM PHLG 1
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Total No. of printed pages = 6

1.

II SEM PSCC 1

2023
POLITICAL SCIENCE (Core)
Paper : PSCC - 201
(Political Theory Concepts and Debates)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

Select the correct answer : 1x8=8
(a) The basis of the primitive liberalism was
(i) Welfare (ii) Collectivism

(iii) Individualism (iv) None of the above

(b) The idea of thin State is associated with
(i) Positive liberty (ii) Negative liberty
(iii) Welfare State (iv) Total State

[Turn over



(c) Assertion (A) : Equality stands for absence of

(d)

(e)

51/11 SEM PSCC 1

all privileged classes in society

Reason (R) : Equality does not mean abso]yq,
equality '

(i) Both A and R are true and R is the correct
explanation of A

(i1) Both A and R are true and R is not the
correct explanation of A

(iii) A is true but R is false

(iv) A is false but R is true

Equality of wages between male and female
for equal hours of work is an example of

(i) substantive equality
(ii) political equality
(iii) procedural equality

(iv) None of the above

fkssertion (A) : Economic justice relates to
Just distribution of economje benefits
resources and opportunities ag well a5 '1 .
economic structure. il

@

r

\

|

(H)

51/11 SEM PSCC 1

Reason (R): The liberal and the welfare
perspectives see economic justice in terms of
fair and adequate chances to earn livelihood.

(i) Both A and R are true
(ii) Both A and R are wrong

(iii) Both A and R are true but R is not the
correct explanation of A

(iv) A is true but R is wrong

Consider the following statements

Statement 1: The theory of Legal Rights
believes that rights instead of being natural are
given by the state and only the rights given
by the state are the rights.

Statement 2: Rights are mot prior to state
instead state is the source of rights.

(i) Both the Statements 1 and 2 are true

(ii) Both the Statements 1 and 2 are true and
Statement 2 is the derivative of Statement 1

(iii) Statement 1 is true but Statement 2 is

false

(iv) Statement | is false but Statement 2 is

true.

[Turn over
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(2) Which of the following regarding the relevanc,
of the universal declaration of Human Rights
is incorrect ?

(i) The UDHR consists of 30 Articles

(if) The UDHR is a major basis for the
formulation of human rights covenants

(iif) The declaration has acquired a politica
and moral authority in the domain of
human rights.

(iv) The UDHR is legally binding and its
articles cannot be violated at any cost.

(h) Intellectual freedom such as right to

conscience, thought, expression, education,

belief, religion etc. falls within the category
of

(i) Civil or Social rights
(ii) Political rights

(iii) Moral rights

(iv) None of the above

2. Write short notes on any six of th

o e followi
(Word limit : 200 words each) : jing

4x6=24
(a) Classical Liberalism

(b) Freedom as development

51/I1 SEM PSCC 1 @) ooy,

) Political Equality

(d) Your understanding of Economic justice
(e) Legal Rights

() Political Obligation

(g) Civil Disobedience

(h) Four features of Egalitarianism.

Answer each of following questions within 600 words
each
3. (a) Discuss the essential conditions for realisat!on
| of liberty. Which of the conditions faccordmg
to you is the most important al:id plrllmfry one
individual liberty and why
to ensure 1naAi1vi L .
Or

dom of belief,

b) What do you mean by free
- expression and dissent? Why are they

i for a vibrant democracy ?
important 10 Ny r

4. (a) Define equality. Equality in formal sense

.+v before law. In the light of the
:;)?z% 523:::“131:3 discuss the concept o4f fginllgl
eq s 2
(b) What arc the different kinds of cqualiltg,
Discuss 1n detail.
S1/11 SEM PSCC 1 ©) [Turn over



51/1 SEM PSCC 1 (6)

(a) What is Justice ? Write a note on Prm.r:.durl
Justice. Discuss the difference bctmﬁr
Procedural and Substantive Justice.

Or
(b) Justice stands for the principle of distributiq,
of rights, social, material and politicy|

resources amongst the members of a socieyy
In the context of the above statement discug
the different features of justice. Why do yo,
think that justice is important for the society?

8+4=1)

(@) Define rights. Why do you think that rights
are important ? Distinguish between Positive
rights and Negative rights. 2+4+6=12

Or

(b) What is multiculturalism ? Why should we
promote and defend multiculturalism

4+8=12

100(Y)

v'

Total No. of printed pages = 6

1.

IT SEM PSCC 2

2023
POLITICAL SCIENCE (Core)

Paper : PSCC-202

(Political Process in India)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

Choose the correct answers : 1x8=8
(a) Which is not the merit of Two-Party System ?
@) It limits choice of electorate
(ii) It imparts stability to the executive

(iii) Easy to locate responsibility for
administrative deficiencies

(iv) Criticism of Government likely to be
sober.

[Turn over



(b)

(c)

(d)

52/11 SEM PSCC 2

Who said that “Political Parties are
lubricating oil in the wheels of democraj,

machinery”
(i) Bryce (ii) Huber
(iii) Burk (iv) Leacock

In the Indian context which of the following

statements regarding caste sysiem holds
true ?

(i) Caste system is declining but class is
becoming strong

(i) Caste system is entering into politics
(iii) Class and Caste systems are overlapping.
(iv) Caste is withering away

Which of the following is not an effect of
Communalism ?

(i) It creates barrier in nationg] integration
(ii) It gives birth to a feeling of insecurity
(iii) It impeds economic development
(iv) It promotes political Participation

(2

Y

(€)

®

(2)

52/11 SEM PSCC 2

Leadership today is increasingly associated
with the concept of

(i) Command

(i) Strategy

(ii1) Getting others to follow
(iv) Control

In the economic sphere the socialists are in
favour of

(i) Free Competition

(ii) Regulations of means of productions
and distribution

(iii) Non-interference in the economic
activities

(iv) Multi-nationals

Which Constitution amendment has
recommended the establishment of a
Commission for Scheduled Castes and
Qcheduled Tribes ?

(i) 4lst Constitutional Amendment
(ii) 65th Constitutional Amendment

[Turn over
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(iii) 82nd Constitutional Amendment

(h)

(iv) 76th Constitutional Amendment

Elections serve the purpose of

(i) socializing and institutionalizing
political activity.

(i) providing regular access to Political
Power.

(iii) providing a legitimate means to replace
leaders

(iv) All of the above.

Write short notes on any six of the following

(@)

(word limit : 200 words each) : 4x6=24
UPPL
Four determinants of Political Party’s

(b)

(©)
(d)
(e)
(f)

52/11 SEM PSCC 2 )

Structure

India as a Secular State
ULFA

First-Post the Post System

Causes of Regionalism.

100¢y)

(2)
(h)

(@

(b)

(a)

(b)

(2)

52/11 SEM PSCC 2

Importance of Affirmative Action Policies.

Need of Women’s participation in Indian
politics.

What do you mean by Political Party ?
Discuss the features of political party system
in India. How Indian party system is unique ?
2+8+2=12

Or

Discuss the evolution of Party system from
single party dominance to multiparty coalition
system in India. What is the future of Indian
Political Party System ? 8+4=12

What is Communalism ? What are its evil
consequences ? Give your suggestions to
eliminate Communalism. 2+5+5=12

Or

Discuss the role of Caste in Politics in India.
How is politicisation of caste a threat to

Indian democracy ? 8+4=12

Explain the meaning of Voting Behaviour ?
‘Caste, Class and Gender occupies distinct
: oulding the voting behaviour in

ition in m
pos 4+8=12

India’. Discuss.

) [Turn over



Or

(b) What is Political mobilisation ? Discuss the
role of leadership in political mobilisation,

4+8:]2 !

6. (a) What is an Affirmative Action ? Affirmative
Action Policies in favour of women,
Transgender and Senior citizines are essential

for our country. Discuss. 2+10=12
Or

(b) “Globalization has changed the nature of
politieo-social system of India”. Discuss.

12

52/I1 SEM PSCC 2 (6)

100(Y)

T

Total NO. of printed pages = 10
II SEM PSCG 1

2023
POLITICAL SCIENCE (GE)
Paper : PSCG-201
(Working of the Indian Constitution)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

1.  Write/select the correct answer of the following :
1x8=8

Sat B/ o7 TeA! AR Bfene ¢

(a) “Rights are those conditions of social life
without which no man can seek, in general,
to be himself at his best”. said by —

i 2rr AP GRAT G v,
RiCHl FRTE TS R AR fae
ey afostd T I (¥

(i) Dicey (©i2)

(ii) Laski GUEY)

[Turn over




(iii) Bryce (325)
(iv) Aristotle («f<85eT)

(®)
the Constituent Assembly on

SR TSR SINOTT SO ISPl arzy
R

(i) 21 July, 1947 (5 TEAIR, 3584)
(i) 22 July, 1947 (2 T2, 589)
1947 (9 TETE, $589)

1947 (38 TR, >»84)

Which of the following recommended the
Constitution of a permanent Inter-State
Council for co-ordination among States and
with union ?

TR Z51CS (FPH-INSTI e 11l
AR /st /M=Fbm g o

(i) Rajamannar Committee
A ARIS
(i) West Bengal Memorandum

AR ATl
53/ SEM PSCG 1 2)

(iii) 23 July,
(iv) 24 July,

The National Flag of India was adopteq by ¢

(iii) Sarkaria Commission
BSR2ISEI R e b

(iv) Punchi Commission

AT SCie

(d) Find out the incorrect statement given below.

Se1e fal (! R wram RonfE Gienea ¢

(i) Panchayati Raj was constitutionalised
through the 73rd Constitutional
Amendment Act of 1994.

q0SN FLRYT FATNYN 5558 I 1IN
sgEeRed ARaAIIT 9 (=3 |

(ii) The subject of ‘Local government’ is
mentioned in the State list.

FT IR [REEeet sfess shie
HIGE |

(iii) Gram Sabha is a village assembly.
sife Fet (202 AR e |

(iv) 73rd Amendment Act has added
Eleventh Schedule to the Constitution.

Qs TRUN FRCNLRCH AR
e TEPDT IR FRCE |

[Turn over
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(e) Assertion : Advocate General has the righ
2ht

to speak and take part n the
proceedings of, but no rigp, to

vote in the Houses of , :

Legislature of the State,

SfeFe : RIRTSR TS iz *ifmrs

I TR ST R ks
SRHALRE I LRI W0y g
e st AR wi@der =13

Reason : Because, he is a person who is

qualified to be a Judge of a
High Court.

TR D PR, (€ G g e T]

©% WHTER A =ER
@It SR |

Options :

Q)

(ii)

Both A and R are true, R is the correct
explanation of A.

A IR R TIAGE o1, wre
- | RZAAT

Both A and R are ture, g is not the
correct explanation of A

A ¥ R TAGE
= I:m” #Bt’ﬁ’“R,Aa@ﬁ

53/I1 SEM PSCG 1 4

r

(iii) A is true, R is false.
A 351, R 9|

(iv) A is false, R is true.

A we, R 351 |

(f) Find out the correct one :

wa Teqo! AifR Bfenedl |

(i) The Speaker of Loksabha presides over
a joint sitting of the two Houses of

Parliament.
(ERTSR SRPFR AGTE o1l (0TS
Feiofeg FI |

(i) The Vice-president of India presides
over a joint sitting of the two Houses of

Parliament.
- AL T ([T
ooy T |

(iii) The Prime-minister of India presides
over a joint sitting of the two Houses of
Parliament.

@Wﬁﬂﬁﬂmﬁwmm
seioifoy T |

T
53/11 SEM PSCG 1 ) [Turn over



(2)

(b)

53/11 SEM PSCG 1

(iv) The Chief Justice of India presides oy,
a joint sitting of the two Houses of
Parliament.

SROIIT A VRACT AW By |

1399° Toi+ifoy 0 |

Arrange chronologically the Presidents of
India.

SIS AGASATAE T AT HCEHI |
(1) K. R. Narayanan

(ii) Giani Zail Singh

(iii) Pranab Mukherjee

(iv) R. Venkataraman

Options :

(@) @v), (i), (i), (i)

(®) @v), (i), (i), (i)

(e) (i), (v), (), (ii)

@ @), @v), Gi), (ii)

How many Autonomous Councils are there
in Assam ?

i 2
(iii) 4

Gi) 3
(iv) 5

(6)

i

TPTTS (P2 FEY =S «f W =it ¢
i = (i) @
(iii) 8 (iv) @

Write short notes on the following within 200

words each (any six) : 4x6=24

wore fral REaTEs efSTh! K00 *1 foose 53
Gl PRl (@ @It @ iot) @
(i) Constituent Assembly of India.

TReIFe AR S |

(ii) Veto-power of the President.
Bofex CSTE1 =l |

(iii) Council of Ministers.

w7 +ARam|
(iv) Religion and Indian politics.

wwmaﬁ%;

(v) Importance of Gandhian principles of
Directive principles of State policy.

@WWWW
Afeq T=2¢!

[Turn over
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(vi) Fundamental Duties.
e 67 |
(vii)Article 263.

SEORT 99 |

3. Answer the following questions within 600 word
each : - 12x4=43
:;; 2RI AFSTHIT Tey voo »rg oo

(a) How do Directive principles substantiate {,

the rights assured by the F
Rights 2 y undamenta]

T = ve v
RNE S = =Y
Wﬁ”':'“'w MSTI2 @it frvmer amm

Or/=1at

(b) I:'Indian constitution was created by
0 - -
ITOWing ideas from g multitude of sources

giving it unique characters hyg q,:
t .
hature of Indian society” suit the unique

. 2 ) = A]l i
highlighting the featureg a;y S€ lt'by
constitution. of Indian
“CIST TG 12

RISEU]
TOR[ el 41 qsﬁ%' (IRt ffon

2T I 2" Tw @Wﬁ AR
R CAFRBTR it R ‘T‘f:::fq

53/I1 SEM PSCG 1 €3)
100¢Y)

(a) Examine the constitutional relation between
the President and Prime Minister of India.
12

ABAS wile eiiFa e AR 7=F=
Rt et 4t |
Or /511
(b) Analyse the jurisdiction and powers of
Supreme Court of India. 12

O] THOT T FAO! T HEFT
cFq ReeEet 90|

5. (a) Write a note on phases of Federalism in

India. 12
SREIAE ST Tz RIwa <61
oIt fer |
Or/=9=1

(b) Discuss varians types of Urban local bodies
in India. 12
SREIAT TR TN [P TR &R
TR SCEDe |

6. (a) Critically analyse the determinants of voting
- behaviour of Indian voters. 12

W@QWWﬁWﬁW
WWWI

53/11 SEM PSCG 1 ©) [Turn over



Or /=91

(b) Wirte a note on decentralization of power i, Total No. of printed pages = 5

India. 1 II SEM SNSC 1
SRee T RTFRITI T @Bt Gy
ferat 2023

SANSKRIT (Core)

Paper : SNSC-201
Classical Sanskrit Literature (Prose)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

SECTION-A
(Sukanasopadesa)
Marks — 40

1. Write short answers of the following questions
as directed : 1x4=4

() Who was Sukanasa ?

(b) Who completed Banabhatta’s incomplete
work, the Kadambari ?

53/I1 SEM PSCG 1 (10) 100¢Y) [Turn over




(c) What type of work Kadambari is ? 3. Elucidate any fwo ideas of the following :

4x2=8
(d) Banabhatta was the court poet of king

) . = 2
(Fill up the blank) (2) STE=RTE: fawar foua-faurareHde
(b) STEARIHEIGHITOT &1 |

(c) THd TN WEggdeaedd |

Translate into Assamese or in English any rwo
of the following passages : 6x2=12

4. ‘foido U9 | foren f& GUMUR=R:' - Who said
(a) VG U9 WEf< SISHIRHRNAR | ATTH fg

to whom this statement ? Write the intension of

e orfEaoes  Wheeeal  fawfs the speaker referred to here ? 1+14+2=4
g@'»h'q%wguﬂzl E.E by ' e 5. (a) Justify the statement : 12
EC IR U BRI NG CRLIE A G R R ERITE MU A0 T |

(b) 3FHE SFRET TR § FE SR | Or
M%Eﬁm Teregaiesed| | (b) Write in your own words the summary of
FHRUSE vEld gUFaad: g4 a1 T YERAINRY: as you find in your text.
AR 7 @ A ? a1 gt
1 Hﬂ "Ta'rﬁ m alﬁ:"ﬂ? SECTION - B

(Visrutacaritam)
(c) 7 IR Tifa | AT | 7 wciieme | A Marks — 20

| 7 WA j i i
PTG A1 T ey Topf 6. Answer the following questions :
q ganrERviEtd | T IR | Y s | '

7 fewwE EERAR) T qemRn T (a) Who was TgU&w ? 1

mﬂ%l A eI Wﬂa‘ﬁﬁl T (b) The chapters of SYFIRERT are known as

ga TvEd @ A _ (Fill in the blank) 1
9/11 SEM SNSC 1 €))
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(¢) What do you mean by the term =i
2

7. Translate into Assamese or English any one of
the following passages : 4x1=4

(2) T, fHeaew ¥ fFaame RIS ey
R womeRRe I yiosgaes qeeate §i
Fisfa Frehell wRS-IRonE:  9faa: | ey
TTegERgH s

(b) TIETE M T TEARIF/TEF | T
Torad s qEfaR@) of 9 oAl arfdes
TS AR R R e g s ve:
TR Meeeeaesa SRR
qEEEETEl Sg AR avRG:  [HEAT=oT:
et aieceste: Iy=nfteg: ofaa-
AUSTRIGH R  FHagHar-qreaa:
HIHAARIER: FAR-Hereh! FoRRaR 7w feragd

=99 |
8. (a) Write in your own words the summary of
Visrutacaritam. 12
Or
(b) Justify the statement with reference to vour
text ‘'S "l 1
9/l SEM SNSC 1 @ 100(Y)

|

SECTION - C
(Prose Romance and Fables)
Marks — 20

9. Write short answer of the following questions :
1x2=2

(a) Who is the author of f&diaes?
(b) fa=mafd / FREY wrote TETTIET. (Choose the

correct one)

10. (a) Write a note on the origin and development
of the prose romance in Sanskrit literature.

10
Or

(b) Write a detail note on Sanskrit Fable
Literature.

- 11. Write short notes on any two of the following:

4x2=8
Toad=l, aaeaafevid, faermmgEiieT |

" 9/I1 SEM SNSC 1 &) 100(Y)



| Total No. of printed pages = 5
II SEM SNSC 2

2023
SANSKRIT (Core)
Paper : SNSC-202
(Self Management in the Gita)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

SECTION - A
(Gita : Cognitive and Emotive apparatus)
Marks — 20

1. Write very short answers to the following

questions: 1x2=7

(a) Who is the speaker of the first sloka of the
Gita ?

(b) What is mentioned as “yH&T" in the Gita ?

[Turn over




2. Answer the following questions : 2x2=4 SECTION — B

(a) How many Gunas are there which arise frop, (Gita : Controlling the mind)
Yfa? What are they ? Marks — 40
ST . . 5. Write very short answers to the following
(b) How crl)oes g objects of questions as directed : 1x4=4
senses ?

(a) What is the source of ¥ 2
3. Translate into English or Assamese any one of

STy dx]=4 (b) Wisdom (JM) arises from Rajas/Tamas/
the following : Sattva. (Choose the correct one)
(a) YR oFel 9 ©@ T gfeET| (¢) What according to the Gita the triple sates
SR TE 9 Pl Wi of hell ?
(b) T TR SR N R WA | (d) Derive the word ‘399z |
frasfta weEEr 2@ M) 6. Write short notes on any fwo of the following :
4x2=8
4. (a) Discuss the characteristics of Gunas as | (a) @ifcar= que, (b) BT, (c) W, (d) shsm
mentioned in the Gita. 10 7. Elucidate the idea contained in any one of the
Or following : 4dx1=4
. | a) FHHCISNHSE A FAY He=T |
(b) sF=anfn wagRf=asa: o 99 @)

(b) =9t f& a@f=a & v wihear

8. Explain with reference to the context any one of

e W gfed 95 WA w |

—Discuss fully in your own words the the following : 6x1=6
significance of the above verse as described (a) T, @ T TR AR |
in the Gita. 10

T wsa W AR i

10/11 SEM SNSC 2 (2) 10/IT SEM SNSC 2 (3) Turn over




(b) sfsam fe =Ral aq T SAfaeRm )
qe wia yH SrgAarary |

9. (a) What is the source of %™ (desire) accordj,

to the Gita ? Why desire is said to be lhel

enemy of a man ?

Or
(b) “77 Iagfadl: Al T - Who said thi

and to whom ? Discuss the conflict ang
confusions arise in Aruna’s mind in the
battlefield of Kurukshetra. 1+1+6=§

8

10. (a) Mention the characteristics of mind according
to the Gita. Discuss the means of controlling
the mind as you study in the Gita.4+6=10

Or

(b) Which chapter of the Gita is known as

FFEM ? Discuss the importance and purity of |

wisdom (FM) as depicted in the Gita.
1+9=10
SECTION - C

(Gita : Self management through devotion)
Marks — 20

11. Write very short answers tq the following
questions :

(a) Who is &i=a?
10/I SEM SNSC 2 (4)

1x2=2

100(Y)

(b) What do you mean by the term “Self
management” in the Gita ?

12. Write short notes on any two of the following:
4x2=8

(a) BI=E, (b) WY, (c) feermww, (d) ¥

13. (a) Discuss the moral qualities to be acquisite for
self management as depicted in the Gita.

10

Or
(b) Write in details the Gita’s idea about
abandoning frivolous debates. 10

10/11 SEM SNSC 2 (5) 100(Y)



Total No. of printed pages = 7
II SEM SNSG 1

2023
SANSKRIT (GE)
Paper : SNSG-201
(Basic Sanskrit)

Full Marks-80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

SECTION - A
(Grammar and Composition Part — D
| Marks — 30

' 1. Find out the numbers of any three of the
following words : 1x3=3

| wers fimt e Rl [0 ow it Sfenear s
: () T, (i) T, (i) T, (iv) w3,
| (v) W, (Vi) o, (vii) S|

‘ [Turn over
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2. Decline the following words in nominative apg

accusative cases in all numbers as directed (any
two) 6x2=12

weTe f RS gg e R Refes fBfep
e et Tl (Rl qo1) 8

() s, (i) T, (i) S
(v) o1, () (D!

Fill in the blanks with appropriate roots (Hq)
in present (¥2) and past (FF) forms (any fouwr):

Ix4=4

TEN I () W TOIewE (AT BT
frmiesm IR IR A IR A = (R
5ifa61)3

() @@ | (/Tae-we @9R)

(ii) W ™ (Y- @R)
Gi)ed fo=med | (Y- W w@R)
vyoe: f& 1 (vVT3-w 7@R)

(v) @ ¥ ) (VER- T wR)

(vi) oifeet: &= | (V93 - = wn)

(2)

|

11/11 SEM SNSG 1

4. Translate into English or Assamese of the

following (any five) : 1x5=5

CER AR WG AR S SEm
(R=stet =Hie51) ¢

(i) BE 93|

(ii) eeq feranfh)

(iii) 9: o= T=sfa )
(iv) St smTesa: |

(v) T®: %o @RI
(vi) arfeiss M T |
(vi) 399 ufeEm: |

. Make sentences using the following Nouns and

Pronouns with suitable verbs (any three) :
2x3=6

TG [Elem 2Tl IR were At Rty o s
AWE GEHIE I B FA (R $F61) ¢

Nouns (R7<%) and Pronouns (F&RI¥) 3

e, o, ] (V), T, e, v () |
Verb (f&F) 3

vyg, vfa@, V& vEg, YTH, vy

[Turn over
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SECTION — B
(Grammar and Composition Part — IIT)
Marks — 30

6. Arrange the following pair of words with suitap), |

verbs to make meaningful sentences (any five) -

1x5=5
O MR AT fEFRsine TS iR e qry
gwe == (R «Ass) s

Pair of words (*I%7) | verbs (f&) .
(a) 2@ aifeen (i) =Y
(b) IHUSH: 3IH (i) TmEf
(c) drm i (i) ==fa
(d) Famq, W=t (iv) =
(e) © f&q (v) wafa
() =en: gweh (vi) wafa

7. Write the resulting forms of the following (any |

e s 1%5-5
woTS FRARE Feen w e B R stissy) ¢
(@) v+, (i) V9 + T, (i) VY +
(iv) I-v+Y, (v) vEI+, (vi) I+ T
(vii) Y+, (viil) v+

11/Il SEM SNSG 1 )

8. Make sentences in Present and Past tense using
each of the following roots : 3x2=6

v Al 49RR IRZE TR IETH T S
SSISPIETd ATOIHE GO 9 197 a1 ¢

v4qg3, vER|

9. What do you mean by the word Sandhi ? Discuss
its varieties (any one) with example.  1+4=5

AT e [ oIoe Tnieaer TR oeReE
(Rl @oR) R az=nig o

10. Conjugate any two of the following roots in all
numbers and persons as directed : = 4%x2=9

iR wem RPIe G5 Siowiel JBCET 65 S
s fordl 8

(i) ¥ in G TR
(i) V'Y in & 9N
(iii) v'7g in Tg THRI

11/l SEM SNSG 1 ) [Turn over



SECTION - C 3. (a) Describe the characteristics of a true devoiee

(Literature) | of God as you find in the twelve chapter of
ita. 10
Marks — 20 piERI
: ‘Frotq A TOTS TrEd T WO ATSTI
11. Answer the following questions : 1x2=) | TR STl |
Oo Ry Uex frml ¢ Or /=12l
(a) How many chapters are there in the Gita 9 (b) Write in your own words of the value based
‘TNee FAF6T YW SR? education as depicted in the Gita. 10
“SHrei™s FeE 311 S EHRIY RrEFie [Ew coms

(b) What is the name of the twelve chapter of
the Gita ?

‘Mrer'y g SgEe 9 [Fe

eiEE ot

12. Translate either in English or in Assamese of the ,.

following (any fwo) : 4x2=8 ‘
Soq fRCPICT 41 CHIe A SRR Sizivet S
=1 3

(@ @ 7 T=Efa 7 g T WEh T Fwhn
[Tt T 3w} fie

(b) aaﬁﬁwa@amﬁﬁqﬁm,
AN Tl A=Y S

11/11 SEM SNSG 1 (6) | 100(Y)
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Total No. of printed pages = 4
II SEM SOCC 1

2023
SOCIOLOGY (Core)
Paper : SOCC-201
(Introduction to Sociology-II)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. Choose the correct answers from the following/

Answer the following question as directed :
1%8=8

(a) ‘Society is like a living organism’ — this
statement/motto is associated with

(i) Contflict (it) Functionalism
(iii) Interactionism (iv) None of these

(b) Who wrote the book ‘The Philosophy of
Money’ ?

[Turn over



©

(d)

(®
®

(2)

(h)

45/11 SEM SOCC 1

Who says — “Self is not a possession of the
actor but rather as the product of dramatjc
interaction between Actor and Audience 9

(i) E. Goffman
(i) G. H. Mead
(iii) C. H. Cooley
(iv) None of these

According to Max Weber, ‘Sociology’ is
concerned with

(i) Social consciousness
(i1) Psychological facts

(i11) Interpretative understanding of Social
Action

(iv) None of the above
Who is known as the father of Structuralism ?

Who wrote the book ‘The Rules of
Sociological Methods’ 2

Who talked about the similarities between
Linguistic system and Kinship system

Who developed
Bureaucracy ?

the

Concept of

(2)

2

(a)

(b)

©

(d)

(e)

§3)
(2)

(h)

Answer any six of the following questions
within 200 words each :

4x6=24

Write a short note on Structuralism
perspective ?

‘Self is a mirror image’ — Write a short note
on Cooley’s explanation.

What are the assumptions of Sociological
theory ?

What do you mean by Interpretative
Sociology ?

Briefly explain how Durkheim tried to
establish Sociology as a science of study
the social facts.

Explain the concept of ‘Ideal Type’.

Briefly explain Karl Marx and Max Weber’s
understanding of Capitalism.

Write a short note on Liberal feminism.

Answer the following questions within 800

words each :

(a) What is Perspective ? What are the three

main sociological perspectives ? Discuss.
12

Or

(b) Discuss the life-sketch of Emile Durkheim

45/11 SEM SOCC 1 3)

pare the list of his major contributions.
4+8=12

[Turn over

and pre



®)

(®)

(b)

45/11 SEM SOCC 1 (4)

Discuss Ralf Dahrendorf’s theory of Clasg
and Class struggle. 12

Or

‘Suicide is caused by same reasons which
is above and over the individual act’ —
Discuss. 12

Define ‘Alienation’ and discuss the causes
and consequences of labour alienations.
4+8=]2
Or

Discuss about the concept of Social Action
according to Max Weber. Discuss about its

types. 4+8=12

f:ritically analyse the Claude —Levi Strauss’s
idea of Structuralism. 12

Or

Define feminist perspective. Make a
comparison between liberal and feminist
perspective. 2+10=12

100(Y)

Total No. of printed pages = 4
I1 SEM SOCC 2

2023
SOCIOLOGY (Core)
Paper : SOCC-202
(Sociology of India - IT)

Full Marks — 80
Pass Marks — 32

Time — Three hours

The figures in the margin indicate full marks

for the questions.

1. Answer the following questions as directed :
1x8=8

(a) Who is the author of the book — “Cities and
Civilization’ ?
(i) M. N. Srinivas
(i) T. K. Oommen
(iii) G. S. Ghurye
(iv) L. Dumont

(Choose the correct option)

[Turn over



(b)

(©)

(@)

(e

(H
(2

(h)

In which year ‘International women’s
Decade’ was declared ?

Who wrote the article title ‘A Note on
Sanskritization and Westernization® ?

When did Pathorughat peasant uprising
started ?

Independent Labour party was established
by

(i) M. K. Gandhi

(1)) B. R. Ambedkar

(iii) J. Nehru

(iv) T. K. Oommen

What is the full form of BAMCEF ?

____is an ideology in which a minority
receives unequal treatment from the
majority, on the basis of religion, culture
and ethnic characteristics.

(i) Secularism

(ii) Communalism

(i) Sanskritization

(iv) Cultural assimilation

(Choose the correct option)

Who first coined the term Secularisy, 9

46/11 SEM SOCC 2 )

(@)

(b)

(©

(d)

®

(2

(h)

3. (a)

(b)

46/11 SEM SOCC 2 3)

Answer any six of the following questions :

4x6=24

Write a short note on concept of
Modernization of S. C. Dubey.

Discuss briefly on Homo Hierarchicus of
Louis Dumont.

What are the dominant issues raised by the
Dalits to form their identity ?

Write a short note on Anti-Rape Movement.
Define occupational rigidity in caste system.

Write four causes of Peasant movement in
India.

Write a short note on Secularism in Indian
Constitution.

Mention the different types of Nationalism.

What is Purna Swaraj ? Discuss its

implementations in India by Gandhi.
2+10=12

Or

Define Indology. Write about the
contribution of G. S. Ghurye towards Indian

society. 2+10=12

{Turn over



4. (a) Critically discuss the causes and
consequenes of Bodo Movement. 12
Or
(b) Discuss Sanskritization and Westernization
as the factors of mobility in Indian society.
12
5. (a) Give a critical apprisal on Peasant
Movements emerged in Assam. ' 12
Or
(b) Critically discuss the patriarchy in relation
with women subordination and oppression
with examples. 12
6. (a) Critically discuss the concept of
Communalism in terms of India with
examples. 12
Or
(b) Critically discuss the problems of Secularism
in India. 12
46/11 SEM SOCC 2 (4)

100(Y)

Total No. of printed pages = 7

IT SEM SOCG 1

2023
SOCIOLOGY (GE)
Paper : SOCG-201
(Gender and Violence)
Full Marks — 80
Pass Marks — 32
Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. Answer the following questions as directed :
1x8=8

Ao SR oo emTER BeR o

(a) The National Policy for the empowerment
of women was adopted in the year of
in India. (Choose the correct option)

Cﬂﬁﬁﬂ7ﬁﬁﬁﬁﬁﬂﬁ?m?rﬁﬁﬁﬁﬂﬁsﬂﬁﬁﬁfmﬁi
afz 41 C2fRE 5o )

(= TeCo! Tl )
(i) 2009

(iii) 2011

(ii) 2001
(iv) 2010

[Turn over



(b) The position of India in Global Gender
Gap Index 2022 is _. (Choose the
correct option)

(Global Gender Gap Index 20223 s
©ReSES ZF oo ) &% TEICH! Bt |

(i) 135 i) 112
(i) 146 (iv) 145
(¢) “Society is like a League Table’. — This

motto is associated with which sociological
perspective ?

(‘Society is like a league Table’ — 3 fSCH!
CFIFCB! FAErolTeT FoeRil 7o Siow ?)

(d) Who wrote the book ‘The Women's Bible’?
(Choose the correct option)

(‘The Women’s Bible’ — 59 %51 (I
iffze?) @ Seast B

(i) Elizabeth Cady Stanton
(ii) Kamla Bhasin
(iii) Marry Wollstonecraft

(iv) J. Bechofen

47/11 SEM SOCG 1 @)

(e)

®

(2)
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“Men always attempt to control the women
bodies through the creation of norms of
acceptable Sexual behaviour’— Who said
this from the following ? — (Choose the
correct option) (T& IR (PITH (FReT2)
e OGO foral |

(i) Catherine Mackinnon

(i) R. Tong

(i11) Kate Millet

(iv) Iris young

‘The Maternity Benefit Act’ was passed in

(Choose the correct option)
(‘The Maternity Benefit Act’ S SR

215 (2feeT) ©F TeIo! ol |
(i) 1961 (ii) 1976
(iiii) 1986 (iv) 1983

‘Beauty Myth® is written by (Choose the
correct option)

(‘Beauty Myth® <= &g feiRkfze ) v=
Tearo! fordt|

(i) Naomi wolf (ii) J. L. Gupta

(iii) S.C. Dube (iv) Iris Young
[Turn over



~ (h) Who talked about ‘Personal is Politicy)]® o
(‘Personal is Political’ @*IS® (pitsy (e e -;)

2. Answer any six of the following questions -

O ARY R =611 Sow o) ¢
4)(6::24
(a) Write a short note on Socialist Feminism,
SIS TR T4 TS GO ey
(b) Mention the different types of sexual
harrasment.
Rfen e i wiesry sz St =1

(¢c) How do you ensure gender justice in India ?

Wﬁtﬁ%%ﬁ%ﬁ%m
?

(d) What are the salient features of ‘Equal
Remuneration Act, —1976° 2

‘Equal Remuneration Act
»—1976°F 32
PRk & e u

(e) Briefly examine the Art
: icle 37
Constitution of India. i -

W%/?;”T{ﬁw SR 9997 ST
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®

(2)

(h)

3. (a)

(b)

4. (a)

47/11 SEM SOCG 1 €))

Give a short description on Gender and
Sexually Transmitted diseases.

fo1Rst Ol (e A i esiqe b3t
SCEARBANS |

Write a short note on “Women Reservation
Bill-2008.

“Women Reservation Bill-2008°F ¢os©
«aft 53 Gl feral |

Define Gender stereotype.
(RSt I=get QIR el v 1)

Critically discuss the causes of sexual
violence in India. 12

(SReIFe (@ B3 SN I e2iao
G NI D 7ife 431 1)

Or /9l

Critically discuss the feminists ideologies
towards gender stratification. 12
(Rrsifoles SRR S2FS TR FITH
QRN @6 FANCACAHS STl 1 1)

Write the concept of Gender segregation.
Discuss the role of education in minimizing

the gender segregation. 4+8=12
(forent AR SRAREIR @ =T ol | ferRatl
AP 2 TS (FI© R el

G 41 1)
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Or/S3|

(b) ‘Female infanticide and foeticide are the
main reasons of declining sex ratio in India

Or/=i2=]

(b) Discuss how Patriarchy dominates women

over Sexuality and Mobility. 12
— Discuss. 12 i
3 -y T 2 SI%@F{@WWWWWWD
(R SROIAS kel S=i® 2579 e | —
oA /1 |

5. (a) Discuss ‘The Sexual Harrasment of Women
at Work Place (Prevention, Prohibition and
Redressal) Act-2013’ in India. 12

(“The Sexual Harrasment of Women at Work
- Place (Prevention, Prohibition and
Redressal) Act-2013°3-@%qw ST

1)
Or/9=t
(b) Write an essay on importance of gender

equality in Indian society. 12

(SRSIAT TGS st Ity GFG oo

QA 51 ot )
6. (a) Explain Gender from different Sociological

perspectives. 12

(Rfew e 1Rng R Brzat’ss

TG 241 1)

100(Y)
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NCC (GE)
Paper : NCCG-201
(Personality Development and Leadership)
Full Marks — 50
Pass Marks — 20
Time — Two hours
The figures in the margin indicate full marks
for the questions.
1. Answer the following questions : 1%5=5
(a) What do you mean by Soft skill ?
(b) What is Communication ?
(¢) Define Time Management.
(d) What is team work ?

(e) What do you understand by Etiquette ?

[Tum over



2. Answer any three from the following questiong -
5x3=15
(a) What are the factors influencing personality 9

(b) Write a short note on Interpersonal
Relationship.

(c) What are the techniques of Stress
management ?

(d) Write the characteristics of a healthy mind.

3. Answer any three from the following questions :
10x3=30

(@) What do you understand by Life skill ?
Explain the life skills which can assist in
enhancing the personality of an individual.

(b) What are the types of Communication ?
Explain the barriers of effective
Communication.

() What are the levels of conflict ? Explain the
methods of conflict resolution,

(d) What are mental disorders ? Explain the
measures for strengthening menta] health.

(e) What are the Leadership traits 9 Explain the
ways to develop leadership ski]s,
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